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9-2 Pre-Test Date Period

Find each product.

1) —3(-8a% +a +8) 2) —(7x* +7x-2)
A) 24a* —3a-24 A) —6x° —3x* = 21x
B) —10a’ + 35a* + 10a B) —7x* - 7x+2
C) 4d’ — 6a* + 4a C) 40x* +32x—48
D) 3a’ —9a* + 18a D) —30x” + 40x — 30
3) -7(-54° - a+4) 4) 4(4r* +r—6)
A) 124* —36a - 24 A) 8% —64r—8
B) 21a* - 24a+ 18 B) —18r° — 61* — 15r
C) —10a* — 40a - 15 C) 16r% + 4r—24
D) 354* + 7a - 28 D) 4% — 14r+6
5) 4(2k* + 4k - 8) 6) —6(-6a> —8a+1)
A) 32k* + 56k — 40 A) 36a° +48a -6
B) 40k* + 25k -5 B) 124° + 14a* — 16a
C) 8k* + 16k — 32 C) 404’ —32a* + 56a
D) —64k* — 40k> — 16k* D) 3a* —5a+3
7) 8(4n® = 7n +4) 8) 8(—5x% + 6x—4)
A) 32n* —56n+32 A) 16x% +6x + 14
B) —2n* —n—1 B) —48x” — 8x — 48
C) —24n° + 150" — 151° C) —40x” + 48x — 32
D) 56n* +49n° —21n* D) —14x? — 14x + 56
9) —6(—8x% — 6x — 4) 10) =5(8x* —x +6)
A) 24x* +24x° + 64x* A) —14x° + 4x* — 10x
B) 48x% +36x + 24 B) 35x% +30x + 40
C) 4x*—32x-20 C) 6x* — 14x° — 14x?
D) —4x® — 6x% + 2x D) —40x? + 5x - 30

Factor the common factor out of each expression.

11) 1684* + 964> + 844* 12) -117p* =39p + 130
A) 6a(284* + 16a* + 14a) A) 13(-117p% = 39p? + 130)
B) 124%(1684" + 964> + 84a) B) 13(-9p>-3p+10)
C) 124*(14a* + 8a +7) C) 13(-9p* -3p +10)

D) 24a*(168a% + 96a + 84) D) 13(-117p* - 39p + 130)
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13) =7r* + 117° = #*
A) AT+ -1
B) (=77 +11r-1

14) 20m* + 36m> — 28m*
A) 4m*(5m® +3m—7)
B) 4m>(5m® + 9m —7)

- )
(- )
C) (=772 +11r-1) C) 4m(5m® +9m—17)
D) #(=7° +33r-1) D) 4m*(10m> + 18m* — 14m)

15) 77v® = 55v% — 1210° 16) —35v* —20v+5
A) 17 =5v-11) A) 5(-7v? —4v+1)
B) 11V (7v3 = 5v-11) B) W(-7v? —4v+1)
C) 11v3(77v? = 55v — 121) C) 20(=35v> = 20v + 5)
D) v{(7v} = 5v—11) D) 5W(-7v? —4v + 1)
17) 60m> —40m + 30 18) 126a + 84a* + 56a°
A) 50(6m> — 4m +3) A) 14a(9a + 64° + 4a°)
B) 5(6m* — 4m? + 3m) B) 14a(9 + 64> + 4a°)
C) 10(6m> — 4m + 3) C) 7a(9 + 6a + 4a*)
D) 10(6m* — 8m +3) D) 14a(9 + 6a + 4a*)
19) —81n* + 1087 — 90 20) —24v° +39v% — 9y
A) 9(=27n* + 361 - 30) A) 3v*(-8v? +13v-3)
B) 9(-9x° + 12n - 10) B) 15v(-8v + 13v —15)
C) 9(-9n* + 12n% - 10) C) 3v(-8v> + 13v—3)

D) 9(-9n* + 121 — 10) D) 3u(—24v* + 39v% — 9v)
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